Read the following passage and answer the questions bellow. The Cherokee were a dominant tribe that lived in parts of modern-day Tennessee, Georgia, the Carolinas, Alabama and Kentucky. Men and women had specific gender roles: Men were in charge of war, hunting, and diplomatic relations, while females were in charge of the home, property, and family. Sometimes, Cherokee women participated in war too. The Cherokee were divided into seven large clans: Long Hair, Paint, Bird, Wolf, Wild Potato, Deer, and Blue. Babies would be born into their mother's clan. Villages were comprised of individuals from different clans. A man and a woman from the same clan could not marry.

- Which of the following was not a Cherokee family clan?
D. Coyote
Babies were born into their ________________ clan?
C. mother's
Which of the following is NOT true?
A. Women never participated in war.
Read the following passage and answer the questions bellow. The Great Pyramid at Giza is one of the world's most amazing landmarks. Rising high above the Sahara Desert in the Giza region of northern Egypt, the Great Pyramid stands some 450 feet into the burning desert sky and occupies of an area of 13 acres. The rough climate of the Sahara has actually caused the pyramid to shrink 30 feet from its original height. The pyramid was such an amazing feat of engineering, that it remained the tallest structure in the world for over 3800 years! The entire pyramid was originally faced with polished limestone to make it shine brilliantly in the sun.
1- Where is the Great Pyramid NOT located?
D. Southern Egypt
2- The Pyramid was _________________ of engineering.
B. a wonderful accomplishment
3- The Great Pyramid was built in __________________.
A. a very hot area

Read the following passage and answer the questions bellow. The Loggerhead Sea Turtle is named for its large head and blunt jaw. This huge sea turtle can grow to 800 pounds (though the average turtle is about 200 pounds) and three and a half feet in length. It is the largest hard-shelled turtle in the world. The carapace (shell) and flippers are reddish brown and the plastron (lower shell) is yellowish. The carapace has five lateral scutes and five central scutes. Scutes are hexagonal sections of the carapace. Underparts are white or whitish. These incredible turtles have powerful flippers that can propel them through the water at speeds of up to 16 miles per hour. The Loggerhead Sea Turtle has a life span of up to 50 years in the wild.

-Why is this species named Loggerhead Sea Turtle?
C. It has a large head.
- What shape are scutes?
A. hexagonal
- Which of the following is not part of the turtle's shell?
D. tail
- The Loggerhead Sea Turtle is __________________ in length.
B. three and a half feet
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